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Section : General Intelligence

Q.1  Select the correct alternative to indicate the arrangement of the following words in a logical and meaningful order.
Elbow

Shoulders

Eyes

Feet

Knee

Ans % 1.3,1,2,5,4
254,312
3 331,54
X 43,5412

D

Question ID : 424429539
Status : Answered
Chosen Option : 3

Q.2  Select the combination of letters that when sequentially placed in the gaps of the given letter series will complete the
series.

a__ccde be eaabc__ _ _aabc_ _ee

Ans X 1. abbaacdeecdecd
' 2. abeaacdecdeecd
& 3. acbdecdeaacecd
/< 4 abcdecdeecdeaa

Question ID : 424429544
Status : Answered
Chosen Option : 2

Q.3 Four letter-clusters have been given out of which three are alike in some manner and one is different. Select the odd one.

Ans X' 1. OMANI
v 2. EVOLV
X 3. AMANA
X 4 UGALI

Question ID : 424429547
Status : Not Answered
Chosen Option : --
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Ans

Q.4 Ina grocery shop the number of vegetables is three times the number of fruits. Which among the following number

correctly represents the total number of fiuits and vegetables in the shop?

.
v &)
p 3
X 4

42
60
50
39

Question ID : 424429532
Status : Answered
Chosen Option : 2

following figures. How would this paper look when unfolded?

e | o ==
I Jo 1
[ FI
Bt
Ans
0 0
[+] 4]
X +4
[+] 0
o 0
0
" +4+
2.
x *4+
¥ 4]
[+]
4] 0
o ot 0
Vs +4
0 > ]
0 0
0 0
(1] & o
x| %
0 ]
[} 0

Q.5 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the

Question ID : 424429554
Status : Answered
Chosen Option : 3

Ans X 1. Mother
' 2. Father-in-Law
/< 3. Father
< 4 Uncle

Q.6 Introducing Shikha, Arvind said, “The only daughter of her mother is my son’s wife”. How is Arvind related to Shikha?

Question ID : 424429545
Status : Answered
Chosen Option: 2
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8,11, 15,23, 40,73, 7
Ans X1 113

v 2 131

X 3 03

X4 122

Q.7 Select the number that can replace the question mark (?) in the following series.

Question ID : 424429537
Status : Not Answered
Chosen Option : --

Ans  of 1. Oyster
X 2. Shark

/< 3 Salmon
X 4 Cod

Q.8 Four words have been given out of which three are alike in some manner and one is different. Select the odd one.

Question ID : 424429548
Status : Answered
Chosen Option: 1

pair.

Sheep : Flock

Ans 1. River : Sea
/< 2. City : District
+ 3. Fish : Shoal
& 4 Man : Human

Q.9  Select the word-pair in which the two words are related in the same way as are the two words in the following word-

Question ID : 424429546
Status : Answered
Chosen Option : 3

Ans (1_ g
X209
X 3529
X 4 49

Q.10 Four numbers have been given, out of which three are alike in some manner and one is different. Select the odd one.

Question ID : 424429538
Status : Answered
Chosen Option: 1
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Q11 Select the option in which the given figure is embedded (rotation is not allowed).

Ans

Question ID : 424429553
Status : Answered
Chosen Option : 3

Q.12 Select the option that is related to the third term in the same way as the second term is related to the first term.

JUST : IWPX : : AWAY : ?

Ans o 1. ZYXC
X 2 WYAA
X 3. AYWC
X 4 AAYW

Question ID : 424429542
Status : Answered
Chosen Option : 1
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Q.13 Select the Venn diagram that best represents the relationship between the following classes.

Animals, Cows, Dogs

X2 @Q

p 3

NQ'®,
OO

Question ID : 424429556
Status : Answered
Chosen Option : 1

Q.14 Four different positions of the same dice are shown. Select the number that will be on the face opposite to the one
having 5.

I
Ans X1 1

V2 4
X3 6
X 42

Question ID : 424429550
Status : Answered
Chosen Option : 2

Q.15 Select the number that can replace the question mark (?) in the following series.
817,9,19,10,21,7,?
Ans 1. 11,22
X2 11,24
W3 11,23
X 410,23

Question ID : 424429534
Status : Answered
Chosen Option : 3
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TIGER : CAT : : ?7: DOG
Ans 1. Jaguar

v 2 Fox

< 3 Lion

/< 4 Lynx

Q.16 Select the option that is related to the fourth term in the same way as the first term is related to the second term.

Question ID : 424429543
Status : Answered
Chosen Option : 2

Q17 How many triangles are there in the given figure?

Ans X1~

XX
SN
b b b
NS W

Question ID : 424429552
Status : Answered
Chosen Option : 3

CONSTITUTION be written as in that langnage?

Ans X 1. 167
X 2 179
V3 184
X 4132

Q.18 If in a certain code language, SITUATION is written as 133 and RIGHT is written as 67, then how will

Question ID : 424429541
Status : Answered
Chosen Option : 3

Ans x 1. TUVO
v 2 TUAQ
X 3. TATU
< 4 TUOQ

Q.19 In a certain code language, LIFE is written as MOGI. How will SOUP be written as in the same language?

Question ID : 424429540
Status : Answered
Chosen Option: 1
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Q20 gelect the figure that will come next in the following figure series.

OOOLW

.

% B0

Question ID : 424429551
Status : Answered
Chosen Option : 3

Q.21 Select the correct mirror image of the given figure when the mirror is placed to its right side.

Ans

Question ID : 424429555
Status : Answered
Chosen Option: 1
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Q.22 select the option in which the number set shares the same relationship as that shared by the given number set.
(2,41, 7)

Ans ¢ 1.(9,92, 11)
< 2 (6,36,9)
Vv 3 (4,57, 11)
X 4 (8,81, 11)

Question ID : 424429536
Status : Not Answered
Chosen Option : --

Q.23 Which two signs should be interchanged in the following equation to make it correct?
6+ 7T X 8=2]1% 7=47
Ans x 1. 4+ and —

X 2 = and X
X3 = and—
W 4 + and X

Question ID : 424429533
Status : Answered
Chosen Option : 4

Q.24 Select the option that is related to the third number in the same way as the second number is related to the first number
10:1010:: 11:2

Ans X1 131
v 2 1342
X 3132
X 4 1320

Question ID : 424429535
Status : Answered
Chosen Option : 2

Q.25 Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even
if it appears to be at variance with commonly known facts, decide which of the given conclusions logically follow(s)
from the statements.

Statements:
L. Some books are tables.

1I. All tables are chairs.

Conclusions:
i All books are chairs.
1L Some books are chairs.

II.  Some tables are book.
V. All chairs are book.

Ans 1. Only conclusions I and TV follow.
/< 2. Only conclusions IL, IIT and IV follow.
« 3. Only conclusions IT and ITI follow.
/< 4. Only conclusion I follows.

Question ID : 424429549
Status : Answered
Chosen Option : 3
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